6.6 Function Operations
A —
IC:)perqtuons With You can add, subtract, multiply, and divide functions.
2:;; unctions Example: If f(x) = 3x — 7 and g(x) = 13 — 2, find f(x) + g(x):

xX~T 413 -3y = X+

This new function is denoted as: (£19)(x )

All Operations SUM f +9)x) = {( y% i q ( x )
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Dir_ections: Given f(x) = x2 — 8x + 4,g(x) = 4x — 3, and h(x) = x + 2, find each function.
Indicate any restrictions in the domain,
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Directions: Given f(x) = 2x? — x — 12 and g(x) = x + 7, find each function value.
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Position of Functions Another method to combine functions is called composition.

Given f(x) and g(x), the compasite function (f °» g)(x) is defined as:

Lflqe)  Jelug g It

Directions; Given [=x3+8

\ , 9(x) = x -1 and h(x) = 5x — 3, find each function.
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Directions: Using the same functions above, find each function value.
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17. A store is offering a 15% discount on all items. Also, employees get a 20% employee discount.
Write composite functions to model the following:

a. To model taking the 15% discount and then the 20% discount IS% Oﬁ& i 3757 .

- o =4 3
QUMY 5 (5= 0.0px 27 ulls X
b. To model taking the 20% discount and then the 15% discount
BGEY)= 08X

c. If you were an employee, which discount would you take first? Why?
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18.Your teacher offers to give the whole class a bonus if everyone passes the next math test. The
teacher says that she will give everyone a 10-point bonus and increase everyone’s grades by 9% of
their score. A
a. You earned a 75 on the test. Would you rather have the 10-point bonus first and then the
9% increase, or th& 9% increase first and then the 10-point bonus?

3

A-> -IStID = 85 EBDH) B8 2 T5+.04(75) =875 10 o
86*‘00%(‘%5) = 9&;(_06 3,._75_r}0: ql_75‘ ‘F:HCS‘\
b. Is this the best plan for all students? Explain.
A > (x+10) ¥ 090+ g > (Xt.0ax) +10
X410 +.09x +9 | Ax+10
. 0A% +19.9 ¢
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